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AP Calculus AB 4-1, 4-2. 4-6 Quiz Review WS #2

Calculators permitted.
. B md the sum:

Z[(z +1)2+3Q2i—1)%] = (a+)* Héd- '+ (3+1)+ 3@(3) ) {Lf+,)+3(2(~)

9 +3@9 + 16 + 3(125) + a5+(349§(3)
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5f+s\/_+5x/— 5-8

2. Use Sigma notation to write the sum: 1 2 ) 16
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i‘ 3. Use 3 left rectangles to approximate the area of the region bounded by
Ax) = 1+ 2x%, the x-axis, x =3, and x = 7
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4. Use the table of values on the right to estimate PO (B R &S R 12
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fhetelow: T 1 |2 e e

Use 2 trapezoids with interval indicated

Use 3 left-handed rectangles with c.
by the table to estimate area between the

a. Use2 middle rectangles with intervals | b.
intervals indicated by the table to

indicated by the table to estimate the
4 area be n th d x-axis on estim a between the d x-axi: 6, 14
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3(%)+ 5(1) : 4()+¢(g)+ 2(1) :@ é[?+(]+ %[H'S]
o TENE; 3(7) + 1(6) =[33]

5. Given the region bounded by'&(x) =3+ 2x2 the x-axis, x = -2, and x = 1. Use the limit definition to
find the exact area of the region '
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Find the general antiderivative of g(x). (Find f g(x)dx)
35inX + Scos x~-CsCx - & 3/2+ @
6-9(x)=3cosx—55inx+cscxcotx—3\/3c_ 5 $SCX = kX

~ '/ S
J3Cos>( SES/IAN G csexeotx <« 3x JX

365!/\)() 5(@%)-65()( 3/ 3é)+c
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7.g(x)=3(§/—) 3ot %,ﬁxq/__ X3" -‘——X+C,
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Gx) = j_x o 3X- tr”QX 3
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9. Find the general expression of f(x) if /"(x) = 3x° +5x2— x+5

L /x J‘S’x % 5= x+5 X as %{g).t i(%?é@*%: Cx+K

£1)= 3 +5x _l&+5x+6/ lﬂx): 2+ 2

WC(A g AR lx +§><+C_AX{
10. Find the speclﬁc expression of f(x) if  f'(x)=5x* t9x -4, f(0)=7

qf(y)szxzﬂx- Y ofx e
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f(x)= —ﬁl-imc mﬂx Lb<+J

7= S(o)+ 1(o)-4(o)tc |




b 2 t=n 3) z Iy Area using Limit Definition
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Trig Integrals:

[sinudu=—cosu+C

[ sec2udu = tam ik Gte i
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